Y 10N Mo
DYNYN



N2 DD L,NoN"'NN DAY D'INWNR D72
TIV W' .MIPn NINYN -D'W'9IN 0N DAY D'YAI90N
NI'NYON




GLOBAL

ON'"NN7 721N N'M1I9 NN7I9N NN NIXPII9 17 W' DX
NINYN 1'TAN7 DA [N .NNIXK N9'PNVY 1T D'RYXNIY DINYNY
YAl72 2TAIN AT NINWN NINZAI9N 701 101N AW 7RI
N'Y7119 NIN2 INIR NRY? T NIY190 727 YInn N12INN

.global nnonn N7'Ma wnnwn?7 0'D"MY ,'AYUD



NONLOCAL

Unnwn? N2 math m> 72Imm o'"a'"m DX L'INQ172 NINwn? nnaiT
J'DINA X'NY NYN119 701 ,0W X¥nw math.pi :owa ninwna

7unY) X W2 NINWN D0TANL, a Y119 1IN NAIpnn b nxpae v ox
v X-¥w M L(b) n™nva DA X Dwa NInwn TIVE ,a N1IXNN N'Y72190 (X=2
NIIX'NN ¢ X -2 UNNYN? 'O .NAIX'NN ¢ X-N 7V 7'9XY N'MRoN

nonlocal -> INIX 2 T2) , NN N'¥P2I9]

Local, Enclosing, Gobal,) LEGB :xinh nxnwn nmwa n1dnn 1T0
NIXNAIT 190n nan (Builtins



X=2
print(‘global x=",x)
def main():
X=4
def inner():
X=6
print('inside inner x= " x)
# What happens if we comment out x=6 ?
# What happens if we comment both x=6 and x=4 ?
print(‘inside main x= ‘,x)
inner()
main()
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global x= 2
Inside main x= 4
Inside inner x= 6

NINwNNl ,main() JMaw x=4 - 2y n%7'9xn inner() 1M Xx=6 nnwnn
MY NX 0'9T' ,NIVYN7 X=6 :N1IYN NKX 11901 OX .ON0IN DA X=2 *7X21720
7¥ X-n) Inside inner x=4 :n1NNXN NMIYAL 12T INIX NRIYRIN DNIYD
DNIYN NYI7Y 701 2 1Wn DX 0'9T' ,X=4 NX NIYn7 11901 DKI ,(main()
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x=10
def main():
Xx=5 # How can we change the global in main(),

# so function1 can use the new value?
print(‘inside main second x="', x)

X=4
print('inside main x=", x)
function1()

def function1():
# x is not assigned in function1(), so it must use global

print(‘inside function1 x="x)
main()
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Inside main second x= 5
Inside main x= 4
inside function1 x= 4



nonlocal -2 win'w'? nnaiT

x=10
def main():
x=5 # local name for main
print(’ (first time) inside main x= "' x)

def £1():
nonlocal x # Looks in the enclosing def
X=8 # changes the (x) local of main

print('inside f1 x=",x)

()

print(" (second time) inside main x=",X) # local x of main changed by f1()

f2() # f2() is not enclosed by main
def 2():

print ("inside 2, x=", x) # x here will be the global (no other x)
main()
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(first time) inside main x= 5
inside f1 x= 8

(second time) inside main x= 8
inside f2, x= 10
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